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Al TEHEOBIFDOEILNDKRES TREOHESILNDKES TEHEOBIFDOEILNDKRES TEHoHEEIEIOKRES
= = UE D\ 7 YE A\ T | = = TE AN = TR AN = [ =
1 100kN/M## 2% 1.00| 000 ~ 3.09 149.24 |3m%x#8Zx 5| 0.00 ~ 0.04| 3.02 15.26 | 100kN/m%#8%5%| 1.00 |10.54 ~ 28.45 149.24 |3m%#8 2 5|25.00 ~ 2845 | 3.02 15.26
Zh Lt 1.00| 3.09 ~ 10.87 100.00 | 1L LA4+ | 0.04 ~ 10.87 | 3.00 15.16 Zh Lt 100 | 500 ~ 1054 100.00 | ZHL A4 | 5.00 ~ 25.00 | 3.00 15.16
2 100kN/M##Z % 100 000 ~ 273 143.07 |3mZE#BZ 5 — ~ — — — | 100kN/m%#%2%| 1.00 [10.60 ~ 2495 143.07 |3mZE#BZ 5 -~ - - -
Zh Lt 100 273 ~ 10.52 100.00 [ ZHLlA4+ | 0.00 ~ 1052 | 2.64 13.33 Zh Lt 1.00| 500 ~ 10.60 100.00 | ZHL U4t | 500 ~ 2495 | 2.64 13.33
3 100kN/M##Z % 1.00| 0.00 ~ 2.67 14211 |3mZE#BR 5 — ~ — — — | 100kN/m%#%2%| 1.00 [10.69 ~ 22.32 14211 |3mZE#BR 5 -~ - - -
Zh Lt 1.00| 267 ~ 10.46 100.00 | ZHL A4+ | 0.00 ~ 1046 | 2.82 14.27 Zh Lt 1.00| 500 ~ 10.69 100.00 | ZHL U4 | 500 ~ 2232 | 2.82 14.27
4 100kN/M##Z % 1.00| 000 ~ 282 144.63 |3mZE#BZ 5 — ~ — — —| 100kN/m%# %% | 1.00 (1057 ~ 23.74 144.63 |3mZE#BZ 5 -~ - - -
Zh Lt 1.00| 282 ~ 10.61 100.00 | 1L LA4+ | 0.00 ~ 10.61 | 2.76 13.97 Zh Lt 1.00| 500 ~ 10.57 100.00 | ZHL U4 | 500 ~ 23.74 | 2.76 13.97
5 100kN/M##Z % 100 000 ~ 284 14495 |3mZE#BZ 5 — ~ — — — | 100kN/m%# %2 %| 1.00 [10.72 ~ 28.56 14495 |3mZE#BZ 5 -~ - - -
Zh Lt 100 284 ~ 10.63 100.00 | ZHLA4+ | 0.00 ~ 10.63 | 2.92 14.76 Zh Lt 100 | 500 ~ 10.72 100.00 | ZHL A4 | 500 ~ 28.56 | 2.92 14.76
6 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — — | 100kN/mM%# 2% — -~ — —|3mEHEZS -~ — — —
Zh Lt 100 000 ~ 473 5895 | #hbLlst | 000 ~ 000 | 1.66 8.37 zh s 100 500 ~ 5.00 5895 | #hLlst | 500 ~ 500 | 1.66 8.37
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 % % ~ InEHBZS ~ 100kN/ m##8 %5 ~ InEHBZS ~
zh st ~ zh s ~ zh st ~ zh st ~
100kN/ m##8 % % ~ InEHBZS ~ 100kN/ m##8 % 5 ~ InEHZS ~
zh s ~ zh st ~ zh st ~ zh st ~
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